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Cluster: 0176 ptr; resid: 0.24; r/c: 25/78

x.range

upstream meme PSSM #1; e=1.8e+03

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.5e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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14994
47152

25506
29196

39306

53969

28445

42726

46806

51597

7646

9344

12310

12665
16286

29283

32557

33206

37466

39374

42697

44338

44474

45690

48436

string −500 −400 −300 −200 −100 −1
12665NA
46806−0.32
48436−0.73
25506−1.01
53969−1.67
29283−1.74
16286−1.77
44474−1.96
42697−2.05

9344−2.20
45690−2.27
44338−2.31
37466−2.78
29196−3.01
39374−3.19
42726−3.42
28445−3.72
32557−3.89

7646−4.13
47152−4.41
12310−4.98
14994−5.84
51597−7.29
33206−7.51
39306−7.51

log10(P) upstream meme1 2 log10(P.clust)=−3.32; 25 seqs; 25 uniq
c(0.5, 2.5)
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